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— NTAWN IPIPT oW TRt
Why is it so by a m29; for she is designated and pending

OVERVIEW

The X713 refutes that 1" from 7722 (which was to teach us that an 7WRX is
18’12 N°1P1), stating that a 772 is N7 APPT and therefore we cannot derive
WX from 71n2°. Initially m501n assumed that N2 AP12T means that she i1s
waiting to marry (the 02°) therefore we cannot derive a IwX from a 12’
because an 7WX is not 7PPT to marry (her future husband). This presents a
difficulty, which m»oin will resolve by reinterpreting n72¥1 MPIPT.

nooIn asks:
— 912N Y72 ©2ON AT D5 15 ONY YOI PIYY NNPIPT ND DIYIN PPN NIN 9NN ON)Y

And if you will say; but her 11?27 status is of no avail to her concerning
becoming 71p1 with n®3, so therefore I can enter all these factors into the
1"|7 -

AN NP YDA 1IPY PN NP NPIPT NIAY 29 YY IRV 11922 7113 797 N1*Y)
And we will argue as follows; and what if by a 7%2% that even though she

is N7 72997 nevertheless she is not 1932 %173, but she is 7823 N°IP3, so-
— N2 NIPIV PTINN GO NP NPIPT NNV NUN
A woman who is not 7?21 and is nevertheless o952 np: should certainly
be 1IX°22 noIp: -
— APYPY DONRY NN 1Y PO N
And the fact that she is not 7?2t should be disregarded!

mooin will support his contention that we can use the concept of 1"p2 021K 771 92:
— (8,13 97 xnp x23) DIN T PID 9D TH98 NI INN 997

For we are required to reason in a similar fashion in %3777 739 p2p -
— 9399 )W 1IN Y BYY P13 PIIN 98N DYUN 19T OND SNDINY SyaY

Where the X »3 there wanted to prove that *33p pays a 25w pr in the
domain of the injured party, by deriving it through a "' from *371 yw -

" This shows that her supposed & of N7V APIPT is irrelevant when it comes to her 0°1°1p; for she is not
q022 "1p1. We can therefore disregard this X7 m117. We can have a X379 if the &1 is directed specifically to
the intended 1°7. For instance there is the previous X375 of D32 NRY¥Y W nnK? 71, which explains the
reason why she is 7052 n>1p1 but it is not relevant to the X717 of 7X°22 NP1 K. However a X0 which is
relevant both to the X717 and the X1, as the X370 of N7 7pIPT (and the following ¥37°0 of Mxn P°17),
which is relevant to both 7103 7°17 and %2 11p, there we can argue that 1"2 0°10X 1"2. See footnote # 10.

2 177 (horn) refers to damage that animal does in an unusual manner (such as goring, pushing, etc.). The
rule by 17p is that it pays only a p11 %7 if it damaged in the 7"717 (the first three times when it is still a an).
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— YV P PINN NIV 12N D290 MY PNHIVaVY
Who are 2'"';192 7902 which makes them less stringent that 172, nevertheless

they are obligated to pay a 2%w 11 in the P15 W=, it follows that -
— AYY P PN MY AMAY PTINN P OSN 02390 MY 3NY )P

192 who is liable to pay a 2'"'793 11 3317 which makes it more strict than

7" should certainly pay a 252 p11 in the P37 DW=, This concludes the 1"p
mentioned in the xm.*
— 5581 125117 939 JWY NN TI99Y NIORT DN PHY? 13939 AWDN)

And the °'"'1 asked there that we can refute this 1"p, by saying why is 2'"w
liable for a P17 w12 w"1 because their damage is common® -
— 75981 1517 PPNV 1992 NINRD
Can you say that for 392 whose damage is uncommon?!
— PN MY BYY P13 2190 PIYYT OND PN 19529 Y91
And the "9 explained there that concerning the obligation of paying a

2%w 13 in the P17 N, the fact that it is *1%» 7pr: -
— 11990 799919 NN RN IND

Is not considered a X9%17 to allow us to refute the 1'"'p -
— 1975 ©390 MY P O8N 29NY DI WA DIV NYVIN NN 9NV

For this X7 is of no avail to 2" to obligate it to pay even a 1'n in
9'"519 as 37? pays. This proves that M1%n P71 is irrelevant when it comes to the rules of
payment -
— 1IN YPa DIYN Nt Y
Hence I can place all these factors into the Y"'{ and argue -
— N 1TV 29 Y GRY D)) YW 1)
And what if by 2" where even though it is 1%% 2757, nevertheless -
— BYY PN PN MY PAMN 02290 MY PNV
They are exempt from payment in the 1'% proving that "xn P73 is
irrelevant as far as paying is concerned but are still obligated to pay a w'':
in the P17 WA, so -
— P13 8N B30 MYIA 29N NN 1PN PRY 9 Y NV )9P

3 o 12 (tooth and foot) refer to damage that an animal does in its usual manner, such as eating and
trampling while walking. 231 j@ pay a o%w 1 only if they damaged p1oin nwn2 (in the domain of the
injured party). They are 1"7772 7ws.

* This is indeed the view of 71971 "1 who maintains that 172 pays a 117 Nw12 w"1 on account of this 1"'p. The
71127 argue and maintain that 17 only pays a 11 °¥11 (even) P17 mw3, just as 1"7712. See (however) maoin
on Pw 1"7 X,7 for a qualification concerning the concept of 1"2 010K 7"2.

> It is most usual for an animal to eat and trample.

® The owner, therefore, should have taken adequate precaution to prevent the damage.

"It is unusual for an animal to gore (that is why it only pays a 1"f).
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19? who even though it is not »x» 217 nevertheless he is 217 a 3''n in
"0 -
— QDR PTI PIONT TR 297 PPT WK

Should certainly be 2% a "1 in the P7°277 D! This concludes the proof from
?"2 that we use the concept of 1"p2 012X 1"'2. The question remains why do we not utilize
this concept here to derive WX from a 7722°1 1"p that she should be 1X°22 n1p1?!

N1B0IN answers:
— SANOaY 1IN APYPT 1Y P99 5901 PN 135395 AN

And the 5''9 maintains that this is the refutation; a 722 is nT2w aPPr

for mNe2 -
-AWNRN I AN MIPAY 1Y 9P 79550 TBW PARY DYPAY NN APIYY Y

Meaning that her main 3% is to provide a name for the brother,
therefore it is easier for her to be acquired through 7%°2 more than a
woman."’

mooin offers an alternate explanation:
— DY NPIPT IOV YD N7ITUN HTYIN 939 29

And X'"1mwn 2TY9R ' 2977 explained that nTRIPY IPIPT 19V means -
— PYNRI SVITP N1 XOX AWIY NN 1T INSAY

That this 782 which is 7137 by 12> does not make a new 7°1p (in which the

02’ is 7P the 7n2Y), but rather it completes the 1217°p of the first husband,
and the X270 is -
P 177 .03 prasom ] PP NN NIPRY AR KY N912)) N2 JNIYNT DIUM)

That just because we find that 78%2 completes a 1 that does not give us
the right to assume that it can be effective as an initial °1p.

SUMMARY
If we cannot explain why the X1 (of the 72%1) does not prevent the X7
(of the 7n%n), then we may utilize the concept of 1"P2 02198 1""2. In our 1"p the

¥ The meaning of N7 APIPT is (not that she is designated to get married in a general way, but rather that
she is) specifically designated for 182 in order to be 0*pn the mx¥n of aw 1PNRY? o°pi>.

? This is a paraphrase of the (1,72 [X¥n] 2>727) P02 which is what the 722’ is saying to the 221p1 that the o2’
does not want "3 ow 1nR? 0°pn2; the X is referring to her deceased husband. See ‘Thinking it over’ # 1.

' We cannot say 1"pa 0719% 13, because the X1 of N7 7P applies only to X2 which is the vehicle
aw rrx? o°piv. However o3 cannot provide that. The fact that a 712° is not 1032 N1 does not diminish the
XM of X327 NI PIPT, since fo3 is not directly connected to aw 1rX? o°pi? as X2 is. See footnote # 1.

"It seems that X"1rw» YR " is invoking the rule of 17. It is indeed a valid 1"p, however it can only teach
us that 782 is 7 (that it can make 7R if there was W1 7p previously), however it cannot teach us that
X2 creates PO1R (or 1°3p n2°nn), which is what we derive from 77921, See ‘Thinking it over’ # 3.
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Xmin of npIpT is either that she is IX°2% 77 or that it is only a 11p 93 and
therefore not applicable to the X7 of q052 N1p1 AR,

THINKING IT OVER

1. The >"1 answers that a 7232’ is X122 7?7 in order to be 2°°pn the Mxn of
ow 1rR? 2°pn?, Seemingly by every 1w TR there is also the m¥n of 779
72M. Why is n2 different from nwx?!

2. What are the relative advantages of the °"7 w17® and the X"97 wI7®
R"1Twn?

3. Is there a difference between >"w1 w1 and R"ITwn X" w7022

4. When we say 1"2 010X 1""2 1s the new 1"'p weaker, stronger, or the same as
the original 1"p?!

12 See a"nx footnote # 90.
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